
 

1. Factor: 
 
a) 15𝑥ଶ − 6𝑥𝑦 + 21𝑥 
b) 𝑥ଶ − 17𝑥 + 42 
c) 10𝑥ଶ + 7𝑥𝑦 − 12𝑦ଶ 
d) 15𝑥ଷ + 21𝑥ଶ𝑦 − 18𝑥𝑦ଶ 
e) 10𝑎ଶ + 46𝑎 − 20 
f) 12𝑥ଶ + 20𝑥 + 3 
g) 100𝑝ଶ − 36𝑞ଶ 
h) 3𝑎(𝑥 − 𝑦) − (𝑥 + 𝑦)(𝑥 − 𝑦) 
i) 5𝑦(𝑎 − 2) − (𝑎 − 2)ଶ 
j) 9𝑎ଶ − (𝑏 + 𝑐)ଶ 
k) 𝑥ଶ − 9𝑦ଶ + 𝑥 − 3𝑦 
l) 𝑎ଶ − 2𝑎𝑐 + 𝑐ଶ − 𝑏ଶ 
m) 𝑥ଶ − 𝑐ଶ − 2𝑏𝑥 + 𝑏ଶ 
n) 𝑥ଶ − 𝑦ଶ + 6𝑦 − 9 
o) 27𝑥ଷ + 125𝑦ଷ 
p) 𝑚𝑐ଷ + 1000𝑚 
q) 64 − 8𝑦଺ 
r) 3𝑥 − 81𝑥ସ 
s) 3𝑥ଷ + 2𝑥ଶ − 75𝑥 − 50 
t) 𝑥ସ + 2𝑥ଷ𝑦ଷ − 3𝑥ଶ𝑦଺ 
u) 21𝑎ସ − 25𝑎ଶ − 4 
v) 𝑥ଷ + 4𝑥ଶ + 5𝑥 + 2 
w) 𝑥ଷ + 2𝑥ଶ − 3 

 

2. Solve 
 
a) 𝑥ଷ + 8𝑥 = 0 
b) 2𝑥ଶ + 4𝑥 − 7 = 0 
c) 5𝑎ଷ + 21𝑎ଶ − 20𝑎 = 0 
d) 5𝑥ଷ − 2𝑥ଶ + 20𝑥 − 8 = 0 
e) 2𝑥ଷ − 3𝑥ଶ − 11𝑥 + 6 = 0 
f) 𝑥ଷ − 7𝑥 − 6 = 0 
g) 3𝑥ସ − 15𝑥ଶ + 12 = 0 
h) 𝑥ସ + 125𝑥 = 0 
i) 𝑥ହ − 𝑥ସ − 5𝑥ଷ + 5𝑥ଶ − 6𝑥 + 6 = 0 



 

 

3. Complete the following table: 

 𝑦 = 3(𝑥 − 4)ଶ + 1 𝑦 = −𝑥ଶ + 2 
𝑦 =
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2
(𝑥 + 5)ଶ 
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4. Put each function in vertex form: 𝑦 = 𝑎(𝑥 − ℎ)ଶ + 𝑘 
a) 𝑦 = 3𝑥ଶ + 12𝑥 + 14 
b) 𝑦 = −3𝑥ଶ − 6𝑥 + 5 
c) 𝑦 = 2𝑥ଶ + 3𝑥 − 4 

 

5. Graph each function in question 4. 

 


